RR

Study K with 95% CI ~ p-value
smoking ’ R
0 2 > 0.64 (0.24, 1.74) 0.385
1 11 0.88 (0.77, 1.02) 0.082
Test of group differences: Q,(1) =0.38, p=10.54
hormoneuse
0 7 0.84 (0.63, 1.12) 0.222
1 6 0.85(0.72, 1.00) 0.044
Test of group differences: Q,(1) =0.01, p=0.93
race
0 11 * 0.90 (0.78, 1.04) 0.150
1 2 0.60 ( 0.25, 1.43) 0.250
Test of group differences: Q,(1) =0.81, p=10.37
alcohol
0 5 0.83 (0.64, 1.08) 0.169
1 8 0.85(0.69, 1.06) 0.152
Test of group differences: Q,(1) =0.02, p=0.89
BMI
0 5 . 0.79 (0.56, 1.12) 0.179
1 8 T 0.92(0.82, 1.04) 0.187
Test of group differences: Q\(1) =0.72, p=0.40
Physicalactivity
0 11 0.82 (0.68, 0.99) 0.035
1 2 1.02 (0.85, 1.22) 0.872
Test of group differences: Q)(1) =2.61, p=0.11
lipidbaseline
0 8 — 0.73 ( 0.58, 0.92) 0.008
1 5 1.01 (0.86, 1.18) 0.946
Test of group differences: Q,(1) =4.99, p=0.03
Overall ‘ 0.85(0.72, 0.99) 0.039
Heterogeneity: T = 0.05, T’ = 67.61%, H = 3.09
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Figure S1. Subgroup analysis for HDL-C.



RR

Study K with 95% CI  p-value
smoking ' LT

0 3 * 1.08 (0.72, 1.63) 0.701
1 9 1.00 ( 0.90, 1.12) 0.944
Test of group differences: Q,(1)=0.12, p=0.72

hormoneuse

0 9 1.00 (0.88, 1.13) 0.995
1 3 * 1.08 (0.80, 1.44) 0.630
Test of group differences: Q,(1) = 0.20, p = 0.66

race

0 11 —e 0.97 (0.89, 1.05) 0.423
1 1 1.80 ( 1.22, 2.65) 0.003
Test of group differences: Q,(1) =9.50, p = 0.00

alcohol

0 6 * 0.98 (0.85, 1.13) 0.759
1 6 * 1.08 (0.89, 1.31) 0412
Test of group differences: Qy(1)=0.71, p=0.40

BMI

0 4 * 1.24 (0.85, 1.82) 0.267
1 8 . 0.96 ( 0.87, 1.05) 0.338
Test of group differences: Qy(1)=1.69, p=0.19

Physicalactivity

0 11 1.03 (091, 1.17) 0.669
1 1 0.97 (0.80, 1.17) 0.753
Test of group differences: Qy(1) = 0.25, p=0.62

lipidbaseline

0 8 1.10(0.92, 1.32) 0.281
1 4 —— 0.92 (0.85, 0.99) 0.023
Test of group differences: Q,(1) = 3.44, p = 0.06

Overall ‘ 1.02 (0.91, 1.13) 0.785

Heterogeneity: T = 0.02, I’ = 54.16%, H* = 2.18

Figure S2. Subgroup analysis for triglyceride.



RR

Study K with 95% CI  p-value
- : A X

smoking

0 5 * 0.99 (0.94, 1.05) 0.729

1 9 0.99 (0.83, 1.17) 0.883

Test of group differences: Q,(1) = 0.00, p=0.98

hormoneuse
0 9 - 0.93 (0.80, 1.08) 0.336
1 5 — 1.05(1.00, 1.10) 0.029

Test of group differences: Qu(1) =2.36, p=10.12

race
0 13 * 0.97 (0.88, 1.06) 0.516
1 1 1.03 (0.90, 1.17) 0.659

Test of group differences: Q,(1) = 0.54, p=0.46

alcohol
0 6 . 0.91(0.80, 1.04) 0.172
1 8 - 1.04 (0.96, 1.12) 0.351

Test of group differences: Q,(1) =2.73, p=0.10

BMI
0 1 0.97 (0.89, 1.05) 0.470
1 13 0.98 (0.89, 1.08) 0.645

Test of group differences: Q,(1)=0.01, p=0.91

Physicalactivity
0 10 . 0.93 (0.82, 1.05) 0.232
1 4 — 1.05(1.01, 1.10) 0.019

Test of group differences: Qy(1) = 3.68, p=0.06

lipidbaseline

0 11 0.97 (0.87, 1.08) 0.602
1 3 0.98 (0.91, 1.06) 0.608
Test of group differences: Q,(1) = 0.02, p = 0.89

Overall e 0.98 (0.90, 1.06) 0.570

Heterogeneity: T = 0.01, I’ = 67.20%, H> = 3.05
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Figure S3. Subgroup analysis for total cholesterol.



